
Unit 6 Day 3     Zero and Negative Exponents 
 

Fill in the following tables starting from right moving left.  You may use your calculator where necessary. 

               (Remember: to enter 3

2
 into your calculator :   Plug in:  2^-3,  Hit ENTER,  then MATH , ENTER)  
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Use the tables about to determine the following two definitions: 
 

                                                        
 
 
 
 
 
Notice: when we “crossed the line, we changed the sign”.   
What would you predict the following definition would be? 
 
 
 
 
Try it out! 
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Turn it up a notch!!  
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Take it up a notch! 
Rewrite each of the following expressions with positive exponents. 
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Exit Slip!!! Your ticket out the door! 
simplify all problems using POSITIVE exponents only 
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